
31

30

32

3333

33

54 59 0 9 10 11 12

28

29

17

27

25

24

18

34

353637

37 37

33

31

30

32

54 59 0 9 10 11 12

28

29

17

27

25

24

18

40

41

39

37

36

38

34

35

33

31

30

32

54 59 0 9 10 11 12

28

29

17

27

25

24

18

4545

45

43

42

44

40

41

39

37

36

38

35

34

33

31

30

32

54 59 0 9 10 11 12

28

29

17

27

25

24

18

33

31

32

30

54 59 0 9 10 11 12

28

17

29

25

26

18

27

35

34

36

33

37

31

32

30

54 59 0 9 10 11 12

28

17

29

25

26

18

27

40

41

39

35

34

38

36

33

37

31

32

30

54 59 0 9 10 11 12

28

17

29

25

26

18

27

3333

32 31 30 2933

54 59 0 5 6 11 12

28

29

17

27

25

24

18

33

32

34

31

35

30

36

3737

37

54 59 0 5 6 11 12

28

29

17

27

25

24

18

40

41

39

33

32

38

34

31

37

35

30

36

54 59 0 5 6 11 12

28

29

17

27

25

24

18

4545

45

35

30

36

43

42

44

40

41

39

33

32

38

34

31

37

54 59 0 5 6 11 12

28

29

17

27

25

24

18

4545

45

43

42

44

40

41

39

35

34

38

36

33

37

31

32

30

54 59 0 9 10 11 12

28

17

29

25

26

18

27

33

31

32

30 29

54 59 0 5 6 11 12

28

27

17

29

25

26

18

40

39

41

37

38

36

34

33

35

32

31

30

54 59 0 5 6 11 12

28

27

17

29

25

26

18

45

43

44

42

40

39

41

37

38

36

33

34

35

32

31

30

54 59 0 5 6 11 12

28

27

17

29

25

26

18

34

33

37

36

31

32

30 2935

54 59 0 5 6 11 12

28

27

17

29

25

26

18

1) Beads 30-332) Beads 34-373) Beads 38-414) Beads 42-45
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C00
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B0

D2 A1
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B2D2 A1

B1C11
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￩￩￩

Carry = 1

0 (A0)

0 (A0)

1 (A1)

1 (A1)
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Carry = 1

Carry = 0
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